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1 AWK OOOOO

AWK OOOOOODODOoDOOooOoooooooo1oboooo

00 0O |
sin(x) +000000 (x0000D0)

cos(x) 0000000 (x00000)
atan2(y,x) |tanf =y/2 000 000 (—7<6<m)
exp (x) e’ (e =2.71828...)

log(x) log.z (=2 00000)

sqrt(x) N

int (x) x0000o0

O 1 AWK ODOOOOooooo

atan2(y,x) J0000000O0O0O (r,y) 00000000000 ODOOOODODOO
gobbooogbobb.0000bbobooogn

BEGIN { x=15; pi=3.1415926535; print sin(x*pi/180) }




1. AWK OOOODO

0000 /180 00 0000000000000 0O0O0O0 0 AWK OOOOOO
0000000000000 0000D00D00D0000000 atan2() OOO0OO
Opi=atan2(0,-1O00OOO0O

AWK OOOOOoooooooob copbbooooooooooboooobooooo
gobobbooooobbbuooooboo

Oo0:

sin x

tanz = (cosz£0000), sin 'z = atan2(x, V1 — 22)
cos
log x -1 2
log, x ~Joga (a#1,a>0000), cos™'z =atan2(v/1 — 22, x)
Vr o =at/m (x>0,n>2), tan~'z = atan2(z,1)

BEGIN { pi = atan2(0, -1)
print "OUOOOOOO"; print " cos sin  tan"
for (j=0; j<90; j++) {
printf "%2d4", j
t = j*pi/180; x = cos(t); y = sin(t); z = y/x
printf " 95.3f %5.3f %5.3f¥n", x, y, z }
printf "%2d %5.3f %5.3f %5s¥a", 90, 0.0, 1.0, "--" }

CO000 130000 0000 (0D00DU000)0D0DAWKOODODOODOOO
obg o0333..000000000000DL0OD0D intx/y)y UOOODOODO

O0 0000000000 00000D000000int(x+0.5 000000

OoooQ

int(x) 00z 000000000000000O0D0DO0O00O0O0O
int(3.4)=3, int(3.0)=3, int(-3.4)= —3, int(-3.0)= —3

D00O0CDOO0 floor(x) (= 0000000) 0 ceil(x) (=2 00000

0D0)000o00O0oooon

000 (000000000 0000)D0000M@Mint(x) == x00000O
gobobooodgn
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2 AWK OOOOoooo

AwKODOOOoOooooooooooooboooooooooooooooooooo

EEN HEN

rand () 0000 100U buobuobono
srand() | 00000000 rand() OODODODOOO

02 AWK ODOOOO

rand) 000000000000 00O0O0ODO (DOO0OO0O)00O0OD0O0O0OO rand() O
O000bObO0o0000O000b0obd srandO ODOOOO0OOOOOOOOOODO
000000000000 srandO) O rand) O00O0OO0ODOOOOOOOODOOOO
gbbbooaobbbuoodoob:

BEGIN { srand()
for (j=1; j<=100; j++) printf "%.7f¥n", rand() }

oooooooool0000 0000 1000 (DOODO 70)00000O0OOO
00000 srand() DO0OO0OO0OOODOOODOOODOOOOODOO 10000000O
O0O00O00O srandO) DODOOOOOOOODO 1000000000 O0DODOOO

odobbobooboboooboobob0n0bO0O0O0OODODODOODODOOrandO)
OO0 0000000000 intO) OOODOODOODOO:

BEGIN { srand(); print "4 DO OOOO"
sf0] = "O0"; s[1] = "000"; s[2] = "O00"
for (j=1; j<=4; j++) {
x = int(rand()*3) # 1/3 OJOOOOO x O 0,1,2
print s[x] } }

#0ooboooobobbooooon

oooooooo o ,200000000 sJO0OO0OOOOOO0,1,20000
OO000D00D00 xODOO0bOobooooooooDboDb sxl]0ooboobogoo

gboboggbbogdgbbtuiftgoooogboooooboboooobbooanon
goo
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BEGIN { srand(); print "4 OO OOOO";
for (j=1; j<=4; j++) {
x = rand()
if (x < 0.2) print "OO"; # OO 0.2
else if (x < 0.7) print "OOO"; # OO 0.5
else print "OO"; # OO 0.3

I

3 Uoooon

AWK O0OOOOOOoOOOoOoooooooooooooooooo (O 3)0

00 == |
systime() Unix epoch OO0 OOOOOODOOOO
strftime(f {,n}) | Unixepoch OOO0O0OO n(DODOOOOO

000Yoooooo fO000000O00
Doooood

g 3:g0bbobogd

OUnixepoch DOOOO19700 10 10 oo:00:0000000000000000OO
goggobbbooobbbooodz2iobbbobobbbbododgooooooobon
gob:

BEGIN { t = systime() # 00000
print strftime("O O OO : %H:%M:%S")
do { s = systime() } while (s < t + 5)
print strftime("O0 OO : %H:%M:%S") }

0000000000000 500000 systime() OO0 do-while 000000
ObOs5000000000000 strftime() UDOO0DOO0O2000000000000
O00000O00000000D0Ostrftime() OOO0O0O0O0O0OO0OOODOOO
ddddd print, printf OO OOOO0O

strftime() DO OO0O0O0OO0O0O0ODOOOOODODOODOOOOOO 4000000

0000000000000 {,n}0000{ }0000000000000000000O0O0O0
omoooboooooboboooobobobooboboooooboonoo
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EEREE oo |oo
%Y |00 (40) %H | O (00-23)
w |00 (020) YM | O (00-59)
%m | O (00-12) %S | O (00-59)
%d | O (00-31) I 1200000 (01-12)
va | OO0 (‘O07-“07)| % |00/00

U 4: strftime 0000000000 O0DOOO0

BEGIN { x = systime()
y = x - 3%24x%60%60; z = x - 7*24%60*60
print strftime("OO: %Y O %m O %d O (a)™)
print strftime("O000O: %Y O %m O % O )", y)
print strftime("O000O: %Y O %m O % O Ga)", z) }

goobbbboooooobobobbbodooooboobobbooooooooobooo
000000 (Dobooooooooo)g

U00000D0Ostrftime) UODOD0OO0O printf 0000000000000
gbobbooodobbbooodb n0ODbOO0o00bboOoOod

4 OOO0OO0O0OOO

AWK 00000000000000000000000000000000000
00000000000 5000000000000000000000 AWKOO
00000000000000000000000000000000000000
000 (00)0000000

0000000000000000000000000000000000000
Os = "abc" "def" "ghi"OOOs = "abcdefghi"0 0000000

goboboogobbboooobbbooooboboooo 9bobooooboo

substr() DO OOODOOO0OOOOOOODOODOOOOO:
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ud gud

length(s) sbuoogon

tolower(s) sgubobboooooobbuooooobog
g

toupper (s) sgubbboooooobbouoooonbog
gd

sprintf(f, ...) printf O OO O0ODODOODOODOO

index(s1, s2) 000 s100 200000000

substr(s, n {,m}) | 000 sO0O0 nO0000O m(ODOODOO
O0000)0D0000oooo

split(s, a) 000 sOoobOooooboooooood
aU0O0OOOO0OODODODOOOOO

gsgbobbooggn

BEGIN { s = "abcdefghijklmnopqrstuvwxyz"; N = length(s)
1; j<=N; j++) {

c = substr(s, j, 1)

printf "[%d] %s %s¥n", j, c, toupper(c) }}

for (j

O0000000000000000000 (touwpper() 00 DODOOO)0OODODOO
O0Osubstr(s, j, D UO0OsO yj00000 1000000000 100000000

BEGIN { s = "http://takeno.iee.niit.ac.jp/%7Eshige/"
s = s "math/lecture/comp4/comp4.html"
t = "lecture"; len = length(t)

index(s, t) # s OO t O0O0OO0O

n

sl = substr(s, 1, n - 1) # OO0
s2 = substr(s, n, len) #t
s3 = substr(s, n + len) # 0O0O0O

print si1; print s2; print s3 }

000000000 s (000000000000 URL)ODOODODOO t000
O index() DO 0O000O0O0OsOO0O00D0O0OODO0 s100000 s20000000 s3
0300 substr() UOUODOO0ODOODOODOOOD substr() 0 300000000
gobbbooodobbbuoooobbbdoodobobbodao

splitO U0 O0OO0O0O0O0O0OOO00OO00OO00O0O0O0O0ODO00O0bO0bO0Db0DbOoDO
goboboogd:
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BEGIN { sj = "OO OO OO OO OO OOO OO oo
sj=sj" 0o oo oo oo
split(sj, mj)
se = "January February March April May June July"
se = se " August September October November December"
N = split(se, me)
for (j=1; j<=N; j++)
printf "%2d: %6s %s¥n", j, mjl[jl, melj] }

2000500000000 1 00D400000000DDODODDODDODDODDOOOOO
OoboooopbobobooooobooboobobooooboOonog splitO O mj(d,
me[] 0000000 OsplitO UDOOODDOODOOO1IOOOODOOODOODODOO
mj[1] D000 Mmel2] O OFebruaryd OO0 Mnjl1]="00"0000000O 12
O0Oo00oOnD split(O) DODODOOOOODOO0ODO0ODOO

sprintf() 00000000 DOOD0OO0OO0O0OOODODOOOODOOOODOO 2000
O0O0O000000O0s = sprintf("%20s", ""HOODO0OOO printf OOOODO
sprintfO OO () O00O0OO

ob. ogoogon

gobobobbougoogobbboboooooobboobbooooooooboo
O000AWKOOOOOOOOODOOOOODOOdPerl, PHP, Python, Ruby O O
O0O000000 Unix, MS-Windows DO D000 ODOOOOOOO0OODOO Web
gboboboboobooboobon

MS—Windows O 0O 0 O VBScript O JScript, ASP O 0 Microsoft 00O O0OOOOO
O00O0D0ooooDoO0 MS-Windows OOO0OO0O0000O0OO0OODOOOOODOOO
0000000000000 HSPOOOOODOOODOOODDODOOOoOoOoOOoO
ogoogo

obobodbooboobobooobooobuoobobooobuooboWeb OO
00000000 JavaScript 0 PHP, Flash 0000000000000 ActionScriptd
000000000 GUIODODO0O0O0O0O000o0ooooDOoO Te/TkOOODOOO
OO0 gnuplot O OO0O0OO00OD0OOOO0OOOOO0ODOOODOOOOOOODOOOOO
gobboogoobbbogobobboooobod

00000000000 (seript) 00000000000 OOOOOODOOODOODOO
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gogbobbbbobouooooobbbbboooooobbobbbbuoooobb
gobbbooooobobuoogooboboooobbbuoooobobbuooon

e JJ00DODODDODODO (DOOODODOODOODDODOD)

e JOOODODOODOODLOODLOODLOODOOD

e HUUOUOULOLODLOUOOUOOODLDLDLDOOUOOODLDDOOD

e NUUUOODLODOOOODO

Perl O Python, Ruby OO DO ODOO0O0OOOOOOOODOOOODOODOODODODO
gboobobboobbooboobooobooboobooboobod

e HUUOODLODDOOOODDO

e JOOOOOOOO

e HOUUOODLODLDOUOOUODLDLDUOUODLODLDDOOO

e HUUUOODLODOOOODO

e AWK OOUOOOOODOCODOODODODODOOOODOOODO
e NUUOODLODODOUOOODO

e OU0I000000O0ULOUDLDDLDLDUUOUULULULUULULODLDbLDbDOOUOUOO
gobooboooooboo

o0 WebOOQOOooOOooobobobooooooobobbobooooobobo
gboboboooobboooooo

cOO0O00oObD0ObOoO0b0OPerl0 by OOODOODOOOOODOODOOOODOO
gboobgobobbobobobooboobb



